Y when Y< K .,

ORME J-K 20(Kygp=1)
KIRB+K[Y]_K[K1RB]+2—OW(1—€ Kins ) whenY >K,,

) K[Y]=(1-h)-[(1- ALY;a,b])-Y + AIY;a+1,b]-c]

N
(3) h:(l—iK’RB j
EWALGD

4 a=g-c
(5) b=g-(1-¢)

6) ¢ - K

(7) gz(_l:_f_)_‘_i_l

8) f= V4 Ky _ 2 +(1_K1RB)'K1RB -V
1-h (1-h)-1000
(EWALGD — K ) +.25-(1— EWALGD )

€)) V=Kpg - N

(10) d=1-(1-h)-(1- B[K zz;a,b]).
(11) In these expressions, g [Y; a, b] refers to the cumulative beta distribution with

parameters a and b evaluated at Y. In the case where N = 1 and EWALGD = 100 percent, S[Y]
in formula (1) must be calculated with K[Y] set equal to the product of Kjrg and Y, and d set

equal to 1 - Kirg.



